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BEGIN {

[BEGIN 0000000 O0]
}
(007 {

[00000000000]
}
END {

[END 000000000]
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00000000 1000000000 (3)0000000¢$0000000oooo
gbobobooooboo

AWK OODOOOODOoOOoOo 1ooooooogoooogoooooooooo ooo
00 (0000 0 0000)00000000O0O000000oOO0OO0 1000000
goboobooooogn

EEREE |
$(n] |0000 (Ml 0O0O00OO0O0O0OOOO0O (ODOO 1)
$0 |000D0DO0O0O0

NF | 0000000000

NR |0000O000 (0000 1)
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gbobboodoobibd datal.txt O

2016 0 6 O 22 O (O)
2016 0 6 O 23 O (O)
2016 0 6 O 24 O (O)

gbogobsbooboobooboobooobbo roboobooboobod
000000000 200000000000 (3)00o000O0)0oooooooo
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NF=7, NR=2, $1="2016", $2="0 ", $3="6", $4="0 ", $5="23",
$6="0", $7="(0)", $0="2016 O 6 O 23 O (O)"

O00 WFO NROOOO$OOODODOOOOODOD)DOODOODOOO testl.awk O

BEGIN { print "OOO" }
{ print $3, $4, $5, $6 }
END { print "O0O0" }
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Z:¥> gawk -f testl.awk datal.txt
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{ x=9%1+ $2; print x }

gboboooboobdogo100b 20000000 bO0o0bbOo0 x0bOo0n
000000 (00002%)000000000000000000000Oprint 00
gobboooooboboooobo

{ print $1 + $2 }

gobbboooobobbooooobn

{ printf "%4d: %s¥n", NR, $0 }
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Z:¥> gawk -f test2.awk hogel.c > hogel-c.txt

goobbobbooooooobbobboooogobobobbbodooooonn
gobooo

s$Jo0oooboOosoboogD 1,2,300000000M003=8; s=$j000000
gooooobodbDmMs=sxj+3) 0000000 0bO0O00O00oouonoooonoo
000 (Dooo00U0OoOooDooOoUOUoUOO)DboooOosNFODOOOODODOODO
gbooobodsr-1») Jboobooobobbobooobooobooboon
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{ for (j=1; j<=NF; j++) print $j }

D00print, printf 0000000000000 0000O0O0O0O0O0O0OOODOODOOOOOOO
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0000000000000000000 (D0)00100 1000000040 for
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{ sum += $1 } # (4)
END { print sum/NR } # (5)
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(4)000) 000000000000 0000O0O0O0OO NROOOOOOOOOOO
gbobbooodgbbb 1ooobbbboodgbobbbooodobbbooodn

0000 70000000000AWKOOODOODODODOODOOODOOOO o(@oaOo
0)00000000 sum0O00000 00000000 DOOOODOOOOO

ODenD 0000000 NDODODOOOOOODOODOOOO ENDUOOOOOO
NROODOODOOooooobboooobbbooobbbooobobbuoooboo
gbooodbenpdoggood Nyooooobooobobogobooooobooo
gboboboooobbodgd

{nNR] = $0 } # OODOD w1 OO0
END { for (j=NR; j>=1; j--) print h[j] }
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{ hINR] = $0 }
END { for (j=4; j>=0; j--) print h[NR - j] }

goobbobobooooooobboobbooooooobobooooooonn
00000000 (00000 5000000000D0OO0O0000O0O)O
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100000ooooooooo0o00o0 [po)jooooooooooOoOo@EOo]oO
gboobbooobooboobboobuoobbooboobboobooboo
goboboooobbodd

NR >= 11 && NR <= 15 { print $0 }

O000O0DO0O0OO0OOMOINR >= 11 & NR <= 150000 [00]000000000O0O
OU0b00000 110000 1000000000 print $00ODOOOOOODODO
0000000000000 000000000000000000[CO0] 0000
000000000 (0 else)DOOOOO

O00000000000000 [00]0000 f0000000000000000
O0000[[COo|ooooooOoo fooooo

{ if ( NR >= 11 && NR <= 15 ) print $0 }

goboboooobbodd

OOOAWK OO @M print $0000print00000O00O0OO0ODOOOOOOOODOOO
oooooobo0o 2000000000 so000ODODODOOOO

[00)00000000000000000 ((}00)0000000000000
0000000000
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e JJ000DOD = [00O|0O0DOODOODOOOOO

gobbbooooobobooooboboooobbbuoooobbbuooon

INR >= 11 && NR <= 15 |
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gbobobooooboo

INR % 2 ==

000 [00])00000000000000000000O00000000OooOo0O0
gobobooogbbobuoooobobboooobboooobbobooooboon

5 ULoobobooboo

gbobboooobbbuoooobbobuoooobbbuooobobbbooogn

{ print $2, $1 }

gboboboooobb 200000000000 b0b00oobon

{ print $2 $1 }

OO0obobOoboobboobOos2 100 20 s1 000D OO0OO0OO0ODODO
gmogggbbobuoooobbbouooobbogo

{ print $1 + x; x = $2 }

00000 1000000000000 20000 (x000)00000000O0O0OO

{ print $1 + x; x += $2 }

00000 100000000000000000 20000 (x0O000)00000O
goboboooobbbougooobod

15
26
37
4 8

obgboobgoob 3sbooboobonb 1yr9110o0boobobobobod
gob 1,7,1422000000000000

‘{ x = 0; for (j=1; j<=NF; j++) x += $j; print x } I

O00000000000o0o0o0000000000o00ooD (Doooo)ooooo



5. bhodgdooooo 8

gbobbooogbbbuoooobbbuooon

{if (NF > N) N = NF; for (j=1; j<=NF; j++) h[j] += $j }
END { for (j=1; j<=N; j++) print h[j] }

gboboooooboNbOoboboobDoobobuobjuobDbo0ob0obUn wijlo
gboboboogbbob enpdbbogoobobuoooobobuoodgbbooogn
goboboooooboboNoogooobog yxNvgobooboood

{ print; if (NR % 10 == 0) print "" }

gbogboboboboboobobuoobobobilooobobo1gboobo
O (print """ 00000000)O

NR == 1 { max = $1 } # (6)
NR > 1 && max < $1 { max = $1 } # (7)
END { print max }

000000000000 100000000 oooo((e) 0000 obD 1000o
00000000 mxOOOO0)O(7) 0000000 2000000 max0O0O0O0O
googoobbbbooooobbbuoooobbbooooobbbooodon 1D
(4)0o0oD00o0o0oooooo

Ooooooobooooooobobo tooboooo0oobboooobooooo

{ if ( NR == 1 ) max = $1
else if ( max < $1 ) max = $1 }
END { print max }

else JOOOOOOOMOINR > 100 0000O00O0OOO0OOO0ODOOO

(6),(mOODOOODODUOOUODUODODODDOOOODOUOUODUODODODDOOOOOOOOO

NR == 1 || max < $1 { max = $1 }
END { print max }
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0000000000000 (7)000NR > 1000000000 (D0OO0O0D0O000)O



